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figures ir. the margin iruHcateJuU marks
for the questions

the correct answer from the1. Choose txie ^ 1x5=5
following : ^ ^

(a) The absence of

(j) carbonyl group
/til aromatic ring

S -OH
_-ndarv amino groupsecondary ( Turn Over)
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(b)

(c)

< 2 )

Which of the
auxochrome?

(i) —N=:0

(u) —NO2

(iU) —N=N—

(iv)

following is an

'sr""(m 5H1 „ signals 8 7-5-8 0,
foUowing striS^
data? "^"^tures represents these
(i) CH

® <§>-««»

(iv)

(d) Invert sugar u
sucrose

niannose
n aittturo of

(i^) None of ^"^^^se and finctose
P23/77a

( 3 )

(e) Which one of the foUovring is a natural
polymer?

(i) Celluloid

(ii) Viscose rayon

(iU) Terylene

(iv) CeUulose

UNIT—I

Answer the foUowing questions :
fa) Using Woodward-Fieser rule.

Xma !<"■ IoII°'n°6 •
CH3

(i)
t=CH—C—CH3

(b) Explain how cis-(^^<=^<l a^
ssss
spectroscopy.

(c)
uo«rhs at 280 imi» ^max^^^e nhsorbs the mam

however in ^t 203 nm.
absorption band is 2

(Turn Over)
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( 4 )

the help of IR spectra :

W CH,CH,^„o (u, CH3 J-CHs
Orfi) CH3CH2—OH /••!

(tt) CH3—O—CH3
(^) A compound with ™ . .

CsHgO gives tHo "molecular formula
NMR spectrum signals in
(f Mmtipletj 2.72,5

Doublet J 7-2 £2 w,
Triplet j 0.22

Identify the struct,.
of the compound.

the struct,.
compound vdth ^ organic
whose nmr Molecular mass 88,

A triplet, 6 i-T =
N A singlet, 6 1.97^^

(f)

P23/772

Define Jlf+ ^

'•y base ''°As. What do you
Pootrumofacoft^ ® the mass

^Pound? 1+1=2
a Short „

rearrangement. on McLafiferty
2

( Continued )

( 5 )

(g) An organic compound with molecular
mass 72 absorbs at 274 nm, Smaxl^.
In IR region, a strong absorption
band is found at 1715 cm and
medium absorption bands are
found at 2941-2857 cm" (m) and at
1460 cm"^(m). The signals in the NMR
spectrum are—

(i) 7-52 J, quartet;

(a) 7-88 J, singlet;
{iiij 8-93 J, triplet.
Establish the structure of the ^
compound.

fhj Explain shielding of acetylene protons
and deshielding of ethylenic pro ̂ ^^*2^2=4

Or

Write in short about chemical shift. 4

UNIT—II

3. Answer the foUowing questions :
(a) Define epimerization.

U  the stable conformational
of the «-D-glucopyranose. 1

(Turnover)
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< 6 ) ( f )

(Ci Identify A and B ftnm the foUowing : 2

D^ucose
2)HcI * ̂

Zn

Acetic acid

^ ̂  i following reactions andidentify it, B and C : 2

D-glucose —^^2QH AC2O
>J3

ZnCl,

AgOH
>C

(e) Convert D-arahi»i«
the her . D-glucose

synthesis. KUianl-Fischer

(f)

P23/772

Write a short note About mutarotation..
Or

When D-glucos
aqueous alk^^^ b-eated with dilute
D-mannose, D-fh ^ mixture of
is obtained. and D-glucose
the reaction. mechanism of
reaction? ^ the name of the

( Contif^^^ ̂

UNIT—III

4. Answer the foUowing questions :

ra; Wnte.thesju^i^—Sirjhore alchrome in .Oh ^
case :

(i) Congo red
(U) RosaniUne

HOW can alizarin be synthesized from ^
anthracene?

Or

Write down the preparation of Congo
red.

aniline.

(d, HOW will you synthesize malachite ^
green?

Or

t the colour changes occurringAccount the , jg used as
when P»»«'^°^P;^^rtitration.
indicator in acid-base titr



( 8 )

Unit—IV

5. Answer the Mowing questions :

fome^^ Polyurethanes? How are they
1+1=2

polymer? Give
"• 1+1=2

(d) Explain vulcaniza«
"^^o^tion of natural rubber. 2

(e) How can Teiylene k
y ne be synthesized? 1

**★

P23-1800/772 6 SEM
CHMH (CBCS) C


